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N ol =3 lF:téj L =3 A% =3 lk:téj L =3 A% =3 lk:téj L =3 A% =3 lk:téj L =3 A% =3 lk:téj L =3 A% =3 lk:téj o =3
] =% L W i W i S FE | WrmAE W i S FE | WrmAE W i S FE | WrmAE W i S FE | WrmAE W i S FE | WrmAE W i RV
NO. 116 0. 000 0.0 0.0 0.0 0.0 0.0 0.0

NO. 116+10 10. 000 0.0 i 0.00 0.0 0.0 i 0.00 0.0 0.0 i 0.00 0.0 0.0 { 0.00 0.0 0.0 { 0.00 0.0 0.0 { 0.00 0.0
NO. 117 10. 000 0.0 i 0.00 0.0 0.0} 0.00 0.0 0.0 { 0.00 0.0 0.0 { 0.00 0.0 0.2 1 0.10 1.0 0.0 { 0.00 0.0
NO. 117+10 10. 000 0.0 i 0.00 0.0 0.0 i 0.00 0.0 0.0 i 0.00 0.0 0.0 1 0.00 0.0 0.0 0.10 1.0 0.0 {1 0.00 0.0
NO. 117+15 5. 000 0.0 i 0.00 0.0 0.0} 0.00 0.0 0.0} 0.00 0.0 0.0 1 0.00 0.0 0.0 1 0.00 0.0 0.0 1 0.00 0.0
(m) () () () () () ()

/N B 35.000 0.0 0.0 0.0 0.0 2.0 0.0
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& ¥R B % it B AR ¥ E
JOv iR 3037 m
avo)—kJavy 11835 m?
EAIU 1) —h (t=150) 1773 m®
AR RC-40 2204 n’
Bi5T HEEH 105.29  #hm?
B #h#f t=10mm FEEMHMEER|118.350 % 0.5/10 592 m?
K/ SA4F VP65 118.350/3=39%FF 39.45X%0.5m=19.7m 39 @&PT
EBEa o) —k 2866 m
avy)—k 0 ck=18N/mm2|1.220/10.0 X 28.66 349
ik e |IEEY  |4.00/10.0 X 28.66 1146 m’
B #h#f t=10mm BEEHMHER|3.497/10.00 035 m’
Xigar o) —k 3037 m
avy)—k 0 ck=18N/mm2 |0.860/10.0 X 30.370 261 m°
itk e EmEMEEY  |2.15/10.0 % 30.370 6.53 m?
Bith#f (t=10mm) |t=10mm EFHHER(2.61/10 026 m?
EaRa o) —k
avy)—k 0 ck=18N/mm2 (24.36 X 0.1 244
Rty e EMEEY  |0.1+01 020 m?
BRER RC-40 2436 m?




JOy iR T

_— avyy—kJovy ZAavy)—+k RIARR Bi5T(EEIERM)
p:l| m2 m3 m3 #hm2 &%
(m) [i] EY ([ E| W@ T 1y HE W @ T 1y HE W @ T 1y HE
NO. 116 + 0.300 528 0.792 0.89 4.85 H=5.00
NO. 116 1.194 0.830 528 5.280 4.380 0.792 0.790 0.660 0.89 0.89 0.74 4.85 4.85 4.03 H=5.00
NO. 116 + 2.140 0.880 0.43 2.850 2.510 0.065 0.430 0.380 0.09 0.49 0.43 0.00 242 213 H=0.5
NO. 116 + 2.140 4.78 0.716 0.87 4.35 H=4.54
NO. 116 + 4.620 2.980 528 5030 | 14.990 0.792 0.750 2.240 0.91 0.89 2.65 4.85 4.60 13.71 H=5.00
NO. 116 + 10.000 4.970 528 5280 | 26.240 0.792 0.790 3.930 0.75 0.83 413 4.85 4.85 24.10 H=5.00
NO. 117 8.490 3.77 4520 | 38.370 0.565 0.680 5.770 0.84 0.80 6.79 3.34 4.09 34.72 H=3.60
NO. 117 + 10.000 8.740 215 2960 | 25.870 0.323 0.440 3.850 0.51 0.68 594 1.72 253 22.11 H=2.10
NO. 117 + 13.500 3.480 1.29 1.720 5.990 0.194 0.260 0.900 0.27 0.39 1.36 0.86 1.29 449 H=1.30
& i 30.370 118.350 17.730 22.04 105.29
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NO. 118
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25 URAIE 726 m
av91)—bk 0 ck=18N/mm2|2.539/10 X 7.26 1843 md
B BaEEY  |2242/10x7.26 1628 m?
%A RC-40 t=150 [8/10%7.26 581 m?
HLary—k 0 ck=18N/mm2(0.4/10.0 X 7.26 029 m°
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